BIC
10°

log[ Relative Probability ]

Window Half—Width (km/s)

N

10

10°

—100 -50

—-150

100 1000 10

10

rm894 2/(412609 5083) 0.972

BIC 461835 53 ABIC 0.000 AIogP 0.0000
x 396111.03 Ax 0.000 AlogP 0.0000

..............................................................

- ) A? —3344425 ]
I 5083 : 5083 ]

20 40 60 80 100

110 iterations

rm894 2/(412609 5083) 0.972
F T T T T T T T

- : BIC 461835 53 ABIC 0.000 AIogP 0.0000 -

L e e e e e e e e e e e x. 39611.1.03. Ax_ -0.Q00. AlogP. 0.00Q0. |

Fe2 0% 0+0 km/s
rm894 BLR 3000 NLR 900 km/s

1111

20 40 60 80 100

110 iterations

kdh1 15-0ct-2021 22:56

BIC

BLR

NLR



